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JE4+V)=Ff(2)e* <z <Y Sly f(z) =z blizo 4,89 Sypw dwlxo cwl wglho .
Al (=, m) 0L g, ) Y welis 095 U f(2) = [sinz| U laliseo @1,99 wuyo .

A9l Cows A 1) 55 Sy il U olyod dsles (swgoc wlg> .
Upp — YUt — Ugye = ¢, * < <m*<t
Ugp(*,t) =+, up(m,t) = .

A9l Cows @y |y 0auis 0315 S0 bylyis U olyod 505 asleo (swgoc wlg> .
Up — YUz = ¢, <<V, * <t
u(s,t) = <, u(),t) = ».

A9l Cows A 1) 55 Sy dailui U olod dsles (swgoc wlg> .

Upt + VP Uggge = ¢, * <ax < T+ <t
Ug (1) = ug(m,t) =+,

ulzl(’af) = ua:wz(ﬂ-at) = .

ut—tYum—u: o, o<z, o<t
u(’at) :u(‘vt) = ’,U(I, °)

Ui = Gyrtee =+, V<@ ST, <t
U(\,t) :’U,(Y7t) = ’,U((E, ’) :.’,C,Ut(x, ’) =*.
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